	Merit List for Ac	Matio	nal Institute of To in Master Degree in	Civil Engineer	hers Traini	ng & Research,	Chandiga	arh	-1 C-4	
Sr. No.	Name of the Candidate	Gender	Father's Name	Mother's Name	B St mary	Belongs to SC/ST/Physical Handicapped/OB C Category	Maximum	Total Marks Obtained	% of Marks	Total Experience = Years Months as on 30.04.2021
1	SHUBHAM SHARMA	Male	BHANU PRAKASH	SHEETLA SHARMA	29-10-1996	Open/GM	10	6.37	60.51	20 Months
Civil E	ngineering (Constructi	on Techno	ology and Managem	ent) GATE						
Sr. No.	Name of the Candidate	Gender	Father's Name	Mother's Name	Date of Birth	Belongs to SC/ST/Physical Handicapped/OB C Category	Maximum Total Marks	Total Marks Obtained	% of Marks	GATE Score
1	MOHIT SINGH	Male	MANMOHAN SINGH	KRISHNA	21-11-1994	Open/GM	10	6.1	61	414
2	ANJALI SHARMA	Female	HEM RAJ SHARMA	SUMAN SHARMA	15-02-1997	Open/GM	10	8.22	82.2	404
Civil En	gineering (Construction	Technolo	gy and Management		Qualified	n-marri	g rwy r	A STATE OF THE STA	AND AND ADDRESS.	o Doubleto.
Sr. No.	Name of the Candidate	Gender	Father's Name	Mother's Name	Date of Birth	Belongs to SC/ST/Physical Handicapped/OB C Category	Maximum Total Marks	Total Marks Obtained	% of Marks	PU-CET Rank
1	MANPREET SINGH	Male	JATINDER PAL SINGH	AVTAR KAUR	25-11-1997	Open/GM	10	8.24	82.4	1
2	MOHIT BHANGALIA	Male	Rajinder Kumar	Anjana kumari	13-09-1997	Open/GM	5040	3806	75.51	2
3	KANCHAN MANHAS	Female	Tarsem Singh	Neha Manhas	21-07-1998	Open/GM	10	8.4	84	3
4	VANSHIKA SAXENA	Female	SANJAY SAXENA	GEETA SAXENA	16-11-1997	ОВС	10	9.39	94.6	4
Civil En	gineering (Construction	Technolog	gy and Management) B.Tech Merit						
Sr. No.	Name of the Candidate	Gender	Father's Name	Mother's Name	Date of Birth	Belongs to SC/ST/Physical Handicapped/OB C Category	Maximum Total Marks	Total Marks Obtained	% of Marks	Remarks
1	SHUBHAM GUPTA	Male	AJAY KUMAR GUPTA		27-08-1999	EWS /Gen	10	8.99	89.90	
2	RAHUL KUMAR	Male	SUBHASH CHAND	NARESH DEVI	02-10-1998	SC	4420	3693	83.55	

Verified by ME Goordinator An

Head of Department

3	Atrishwar Raj Himanshu	Male	Mr. H K Pathak	Mrs. Amita Pathak	30-04-1997	Open/GM	7800	6491	83.21	
4	YOGESH BEDI	Male	Sukhdev Singh	Gurvinder Kaur	20-12-1998	sc	10	8.32	83.20	
5	KAMLESH KUMAR	Male	DEVENDER SINGH	VIDYA DEVI	18-10-2000	Open/GM	10	8.32	79.04	a 19 an a 11 - 9
5	YUVRAJ SHARMA	Male	Manish Sharma	Vaishaly sharma	13-04-2000	Open/GM	10	7.9	79.00	
7	RANBEER THAKUR	Male	MALKIT SINGH THAKUR	SUSHMA DEVI THAKUR	02-01-1999	Open/GM	10	8.05	76.50	MANAGE
3	SACHIN SHARMA	Male	PAWAN KUMAR	PROMILA SHARMA	05-07-1999	Open/GM	10	8.01	76.09	
9	NAVEEN SHARMA	Male	SOHAN LAL SHARMA	RAMJEET SHARMA	02-12-1994	GEN	6400,	4740	74.06	ris lo emaliti, le
10	MOHIT GODARA	Male	VIRENDER SINGH GODARA	SANTOSH GODARA	20-10-1996	Open/GM	6400	4695	73.35	and Francisco
11	KUSH GAUTAM	Male	RAM AVTAR GAUTAM	HEMLATA GAUTAM	02-06-1997	Open/GM	7250	5243	73.22	es-es resource
12	SHALINI THAKUR	Female	RAJESH KUMAR THAKUR	RANJANA THAKUR	02-12-1997	Open/GM	10	7.58	72.01) Yahoaniw 3
13	UTKARSH MISHRA	Male	RAJA RAM MISHRA	USHA MISHRA	13-07-1999	Open/GM	10	6.86	68.61	
14	KASHYAP WARIKOO	Male	KANWAL KRISHAN WARIKOO	NANCY WARIKOO	08-02-1997	Open/GM	10	6.84	68.40	
15	Navroop Singh	Male	Baljeet Singh	Prabhjot Kaur	18.08.1998	ОВС	100	6.72	67.20	E3 (A 525A16)
16	Harvinder	Male	Yoginder Singh	Raj Kumari	15.04.1993	SC	8600	5756	66.93	are Trached
17	GIRISH THAKUR	Male	BUDHI SINGH THAKUR	MEENA THAKUR	24-02-1998	Others	10	6.71	63.75	(in general)
18	Chaudhary Preeti Vijendersingh	Female	Vijendersingh Chaudhary	Pramila	10-12-1992	GEN	5750	3590	62.43	ALIHEMAV

Verified by ME coordinator (16/04/104)

Head of Department

Dean (ARD)

Prepared by Academic Cell

Verified by ME Coordinator

Head of Department

National Institute of Technical Teachers Training & Research, Chandigarh

Merti List for Admisssion in Master Degree in Computer Science and Engineering (GATE)

Sr.No.	Name of the Candidate (Block letters)	Gender	Father's Name	Mother's Name	Belongs to SC/ST/Physical Handicapped/OB C Category	Maximum Total Marks	Total Marks Obtained	% of Marks	GATE Score
1	AAYUSHI AGGARWAL	Female	RAJESH KUMAR AGGARWAL	RAMA AGGARWAL	Open/GM	10	9.17	91.7	316
	RNY	and the	Martin March	All a STORY THE		ZeMaran (2)		N /0/.D-4	- W/
		1-8/6/	Com	puter Science	and Engineerin	g (PU -CET)		as a year believes
Sr.No.	Name of the Candidate (Block letters)	Gender	Father's Name	Mother's Name	Belongs to SC/ST/Physical Handicapped/OB C Category	Maximum Total Marks	Total Marks Obtained	% of Marks	PU-CET Rank
1	AVINASH KAUR SAMA	Female	DALJEET SINGH SAMA	AMARJOT KAUR SAMA	Open/GM	10	7.55	75.5	22 \
2	KIRANPREET KAUR	Female	SHINGARA SINGH	SUKHWINDE R KAUR	SC	10	8.24	82.4	22
			Compute	r Science and E	ngineering (B.Tech	Merit)	, and the same		
Sr.No.	Name of the Candidate (Block letters)	Gender	Father's Name	Mother's Name	Belongs to SC/ST/Physical Handicapped/OB	Maximum Total Marks	Total Marks Obtained	% of Marks	

Prepared by Academic Cell

Verified by ME Coordinator 1697

C Category

Head of Department 16/9/2 Dean (ARD)

1	Deepali Sharma	Female	Ashwani Kumar	Neetu Sharma	Open/GM	10	8.26	82.6
2	VIRESH	Male		NEETA DEVI	Open/GM	10	6.92	69.2
Sr.No.	Name of the Candidate (Block letters)	Gender	Computer S Father's Name	Science and Eng Mother's Name	Belongs to SC/ST/Physical Handicapped/OB	Maximum Total Marks	Total Marks Obtained	% of Marks
1	SUMIT KUMAR	Male	Ashok kumar	Saroj bala	C Category Open/GM	100	61.9	61.9

Head of Department 16/9/21

National Institute of Technical Teachers Training & Research, Chandigarh

Merti List for Admisssion in Master Degree in Mechanical Engineering (Manufacturing Technology) GATE

Mechanical Engineering	(Manufacturing	g Technology) PU-CET
-------------------------------	----------------	----------------------

			viecnanie	cai Engine	ering (Ma	anulacturing			1	
	Name of the Candidate (Block	Gender	Father's Name	Mother's Name	Date of Birth	Delongs to	Maximum Total Marks	Total Marks Obtained	% of Marks	PU-CET Rank
	letters)		(Napper			Handicapped/OB C Category	earCES/			
1	SHUBHAM KUMAR	Male	Sanjay kumar	Reeta devi	13-01-1998	OBC	10	7.93	75.33	1

Mechanical Engineering	(Manufacturing	Technology)	B.TECH Merit
------------------------	----------------	-------------	---------------------

	Mecha	nical E	ngineering	g (Manuia	acturing	i echnology) i	o.iech i	vierit		and the same property and the same state of the
	Name of the Candidate (Block letters)	Gender	Father's Name	Mother's Name	Date of Birth	Belongs to SC/ST/Physical Handicapped/OB C Category	Maximum Total Marks		% of Marks	Remarks
1	GURWINDER SINGH	Male	Gurmit Singh	Ravinderpal Kaur	14-08-1999	Open/GM	10	8.4	84	
2	Himanshu Bisht	Male	Raghubir Singh Bisht	Bhagwati Bisht	08-03-2000	Open/GM	10	8.11	81.1	7th and 8th Semseter DMC not Attached Conversion Formula Not Attached
3	ARVIND KUMAR	Male	RATTAN CHAND	KAMLA DEVI	01-03-1997	Open/GM	10	7	66.5	
4	ABHAY SHARMA	Male	SUBHASH CHAND SHARMA	ANITA SHARMA	08-05-1983	Others .	7000	4686	66.94	
5	PALLAV KUMAR	Male	MOHAN PRASAD	KUMARI MADHU	17-10-1988	Open/GM	8000	5194	64.92	

Prepared by Academic Cell

Verified by ME Coordinator

Head of Department

Dean (ARD)

	Merit List for Ac	dmisssi	on in Master D	egree in El	ectronics a	nd Commur	nication Eng	gineering (PU-CET)
SI. No.	Name of the Candidate (Block letters)	Gender	Father's Name	Mother's Name	Date of Birth	Maximum Total Marks	Total Marks Obtained	% of Marks	PU-CET Rank
1	ANJUKRISHNA P K	Female	KRISHNADAS K	ARUNA P	13-06-1994	10 (7.6 7.57	No	15
2	Saurabh	Male	Moti Lal Singh Yadav	Shanti Yadav	29-06-1994	10	5.96	59.6	19
Electr	onics and Commu	nicatio	n Engineering (Artificial Ir	telligence	(PU-CET)	otay Marki		
SI. No.	Name of the Candidate (Block letters)		Father's Name	Mother's Name	Date of Birth	Maximum Total	Total Marks Obtained	% of Marks	PU-CET Rank
1	ANJUKRISHNA P K	Female	KRISHNADAS K	ARUNA P	13-06-1994	10	7.6	No	15
	Floatronics on	d Com	munication Eng	rincoring (Artificial In	tolliganco\ (I	P Toch Mor	i+\	
SI. No.	Name of the Candidate		munication Eng	Mother's	Date of Birth	Maximum Total		% of Marks	
31. INO.	(Block letters)	Gender	rather 5 Name	Name	Date of Birth	Marks	Obtained	70 OF IVIAL KS	
1	ABHAY KALIA	Male	PARVEEN KUMAR KALIA	ANITA KALIA	06-01-1998	10	7.47	70.96	

Verified by ME Coordinator

Head of Department

Dean (ARD)

* 7.57 n SGPA(VIII Semester) smarksheet attached.

National Institute of Technical Teachers Training & Research, Chandigarh

Merti List for Admisssion in Master Degree in Electrical Engineering (Instrumentation & Control) PU-CET

SI. No.	Name of the Candidate (Block letters)		Father's Name	Mother's Name	Date of Birth	Address for Correspondence (including Pin Code):	Mobile No:		Belongs to SC/ST/Physical Handicapped/OBC Category	Maximum Total Marks	Total Marks Obtained	% of Marks	PU-CET Rank
1 .	KESHAV SHARMA	Male	Sanjeev Kumar	Sunita devi		Vill:kothi ,p.o:marhana,teh: ghumarwin,distt: bilaspur ,hp(174028)	9418223325	keshav2404@gmail.com	. Open		Resu	ult Awaited	
2	MITALI THAKUR	Female	BHESH KUMAR	CHANDER KANTA		D/o Bhesh Kumar, Vill. Chowk, p.o Mahadev, teh. Sundernagar, distt. Mandi, h.p, 175018		mitalithakursnr@gmail.com	Open	10		67.07 for conversion from CGPA to % 9.5 is Multipalies	Not- Given Du-CET Exam,
	Killer in the Control							rumentation & Co	ntrol) B.Tech	Maximum	Total	% of Marks	
												70 OI IVIAINS	
SI. No.	Name of the Candidate (Block letters)	Gender	Father's Name	Mother's Name	Date of Birth	Address for Correspondence (including Pin Code):	Mobile No:	Email	SC/ST/Physical Handicapped/OBC Category	Total Marks	Marks Obtained		
SI. No.	Candidate (Block					Correspondence	7807174732	ashutoshsharma0840@gmail.c	SC/ST/Physical Handicapped/OBC Category		Marks	68.97	,

Prepared by Academic Cell

Verified by ME Coordinator

Head of Department

Dean (ARD)